Total number of printed pages—11

63 (FY)SEM-1/MIN1/ECOMIN1014
2024

ECONOMICS
Paper : ECOMIN1014

(Principle of Microeconomics-I)
Full Marks : 70
Pass Marks : 28
Time ;" Three hours

The figures in the margin indicate
Jull marks for the questions.

1. Choose the correct answer from the
following : 1x10=10
T SRS Teg faa ¢
(a) Microeconomics studies with

IR WL ST R |

() Aggregate income

TS
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(i) Indian economy
O Sl S ROHI
(i) Individual consumer
Ffers ToATSE!
(iv) All of the above
QIR TR

(b) Economic problems are connected with

Gt es Tl EieeR AE—
(i) Transportation problems
TreiArs A
(ii) Unlimited Resources
S AFTeE AN
(i) Unlimited human wants

e P iR

(iv) Unsocial Activities

spifee FrEen
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(c)

Price discrimination finds in
71 Reoiled @Rt i I

(i) Perfect competition

7 efscaifrers
(i) Monopoly market
G TS
(i) Monopolistic competition
«IfEeR efScafTere
(iv) Oligopoly
o forateifer
(d) P=AR=MR=AC=MC in which
market ?
(Pl &9 P=AR=MR=AC=MC ?
(i) Monopoly
URZAIER)
(i) Monopolistic competition
iR dfecaarel
(iii) Perfect competition
7} eifecarfere
(iv) Super market
PRISIRISI
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(e) Which one from the following is
the characteristics of indiffere

curve ?

oo @I R (4R @R W=

(i) Indifference curve is downw
sloping
fReers @t gl

(i) Two indifference curve do
intersect each other

TCaTD PR (R AR (T

(i) Higher indifference curve sj
higher satisfaction

Boed e (el (R TS ol
(iv) All of the above
QA AN

(f)v Marginal utility (MU) is
alifezs SAcTel ¥o—
() MU=TU/U
[ MU=TUp,
(@i) MU =TU,-TUp
(iv) MU =PX
(when P = Price, X= Commoq

(T9 P =19, X =)

(g) Market Price is related with

G WS IS (2 A

(i) Short-run in perfect competition
ZFFieTA 7| eferaifrers

(i) Long-run in perfect competition
wdRT s eferafers

(i) Very short period in perfect
competition

wfs gFwETA o aferifiers
(iv) All of the above

@I TR
(W) 1f TR =10000, unit (Q)= 100, then
AR=?
I TR = 10000 2, &= (315 (Q) = 100, (ST
AR=?
) AR=10
(i) AR=0
(i) AR =100
(iv) AR =1000
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i) In the basic market model, the deman (i) Two inputs are varied

function 1s ICI0! Srea_Iel (a15] sifRade
gfaml IEE Wi, sifEwii 2= : (iv) All of the above
(i) Positive sloped SRR TEER
) 2. Answer any five of the following :
ol loped
(i) Negatively slope | e
S RICEERE

‘ o} Rigpica wishig Tes il
(ii) Parallel

AR ([QL What is equilibrium ?
! o o
(iv). Both (i) and (i} S
(i e (i) 7 (b) Give an example of inferior good.
() Return to scale explain the behavio ﬁgv‘g T <5 SR |

of production

(c) Deﬁné Giffen paradox.
8IS RS
Bestmera aifeni R Sl

Ttz FoIePT/ (oiRIess et fm |
C(;ﬁ?mAu inputs are varied (d) What do you mean by cardinal utility ?
g R il RIS AR Tl Ife & ge e
(i) One input is varied }(:l Mention two characteristics of oligopoly.
D1 e (A5 RIS sfepietfa w7 WiRiE S 3
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AR
AR - MR

(f) What is isoquant?
G 52

Write the Robbins definition

e E, =

(d) “MC cuts MR from below is determined
as the point of equilibrium.” Explain
with diagram.

e 7RIS 1 w91 @ B MC @RISE MR
5x6= SRICIGED
J |

(9)

Economics.

2Rpa AT A vl | |

3. Answer the following questions :

(e) Explain, the result of two indifference
curve intersect each other.

Distinguish between perfect competi

a
o) 2nd monopoly market. N 70! ﬁwﬁ*&; (W #AF=[ @ [0t [’ e
A TP <@ i G o b S )
e el ol 4f). State the limitations of consumer
: surplus.
oo - between static i
p) State the dlffcr_en-CC :
% dynamic equilibrium. CAOIE Bgeq AMREelEN |
IESAAS ARTETAE SRARTSR AEro - (9) How price and output is determined in
ef 7 | very short period in perfect
' =7? competition ?
) 1f AR= 10, MR=5, then Eq=: BEY.
(e Af . I efSTifenE Tws wie gamTs v i
where B, =———pmo ol e R = 9
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(h) Distinguish between Money Cost and
Real Cost. ;s

o7 A OF T4l TS e AL T 4

(i) Explain in short : Return to Scale

Besime AfeTRRI S T

4. Answer any two from the folloWing ;
10x2=20

woR SRS go1g Ted fordl ¢

(a) Discuss the law of variable proportions
with diagram.

WW@QWW@%WWW@
I T

(b) How economic problem arises due to
scarcity and choice—Discuss.

T SR TR il W AR ANl
Teg WA I

(c) Why the Demand curve is downward
sloping represent diagr_ammatically.

oy SifR o R 28 Haw RS
Torgio 911 '
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[ox })lai-n how does equilibrium price and
uantity determine in long-run unde
monopoly market. (with diagram) g

AT IS R SR 7 @
Al AR T 27 0t | (B )




